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BFANE A2 222 ,265,186 ,302, 586 A 37,400

= 4,000 4,000 0
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Al 525,000 0 525,000
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=) 525,000 0 525,000

Al 525,000 0 525,000
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03 AlE 2 H b 6,840 3,900 2,940
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Al 2,940 0 2,940
HHSYPH (CHBBYSSER ANYEAB) 1,161,483 1,300, 122 138,639
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Al 1,313,471 1,333, 162 A 19,691
CHELCHD 29 375,293 380,293 A5,000
RFSLTHT HEES 134,033 139,038 A5,000
201 Y2 bl 47,638 52,638 A5,000
01 AR 22l 47,638 52,638 5,000
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2 8,023 3,023 A5,000
SEEY 2,518,000%! 2,518 5,518 3,000
OF2tx| 1,458,000%! 1,458 3,458 £2,000
SYSHE 29 202,607 208,607 6,000
NYENP 23Z20Y 29 27,828 33,828 26,000
201 2 g2 bl 25,728 30,728 A5,000
03 A2t 23,020 28,020 5,000
OSHSHZZ 1Y 29 19,170 24,170 A5,000
oMLY 18,520, 0002 18,520 23,520 5,000
301 PR HI 600 1,600 A1,000
09 BAAIHIXI 23 600 1,600 A1,000
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80002 * 5% * 153 600 1,600 A1,000
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FACHZ 25D208 29 40,725 41,725 A1,000
301 PR EI 600 1,600 A1,000
09 BAAIHITI 23 600 1,600 £1,000
OZZIY HAZSMI SAH]
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OFA JI2H 24(33) 77,628 85,319 A7,691
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202 04 H 9,932 19,872 A9,940
01 2U 044l 9,932 19,872 A9,940
OJI=HH 9,932,0002 9,932 19,872 9,940
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